SIMPLIFYING ALGEBRA
Pearson Edexcel - Thursday 4 June 2020 - Paper 2 (Calculator) Foundation Tier

1.

3 Simplify 3e—e+4e

{Total for Question 3 is 1 mark)

Pearson Edexcel - Monday 8 June 2020 - Paper 3 (Calculator) Foundation Tier

2.
14 (a) Simphfy 3x + 5y + 2x — 4y

(b) Solve 5p+7=22

(Total for Question 14 is 4 marks)



Pearson Edexcel - Thursday 6 June 2019 - Paper 2 (Calculator) Foundation Tier

3.
8 (a) Simphfy axbx7

(b) Simphfy yxyxy

exexex |

(¢) Simplhify fully exex f X f

{Total for Question 8 is 4 marks)

Pearson Edexcel - Tuesday 11 June 2019 - Paper 3 (Calculator) Foundation Tier

4.
9 Simphfy de+6f+ Te-f

(Total for Question 9 is 2 marks)



Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Foundation Tier

5.
7 (a) Simphfy 3m—m —m+ 3m

(b) Simplify 2 xnxp x4

{Total for Question 7 is 2 marks)

Pearson Edexcel - Thursday 24 May 2018 - Paper 1 (Non-Calculator) Foundation Tier

6.
6 (a) Simplify 3 x 4«

(b) Simphfy 8a —3a + 2a

(Total for Question 6 is 2 marks)



Pearson Edexcel - Monday 6 November 2017 - Paper 2 (Calculator) Foundation Tier

7.
3 (a) Simphfy 3f = 5g

(b) Simplify £ x r

2n + 6n

g
e

(c) Smmphify

(Total for Question 3 is 3 marks)

Pearson Edexcel - Wednesday 8 November 2017 - Paper 3 (Calculator) Foundation Tier

8.
2 Simplify y+3y-2y

(Total for Question 2 is 1 mark)



Pearson Edexcel — Specimen 2 - Paper 1 (Non-Calculator) Foundation Tier

9.
19 (a) Factorise 3+ 27y

(b) Simplify  (£)°

L w
(c) Simplify "

(Total for Question 19 is 3 marks)



Pearson Edexcel — Specimen 2 - Paper 2 (Calculator) Foundation Tier

10.
17 (a) Simplify 7x+ 2y —3x+4y

(b) Factorise  10x — 15

(c) Solve 5p =3p+8

(Total for Question 17 is 5 marks)

11.



24 (a) Expand and simplify 3(y—2) + 52y +1)

(b) Simplify 51w % Tuw?

(Total for Question 24 is 4 marks)

Pearson Edexcel — Specimen 1 - Paper 2 (Calculator) Foundation Tier

12.
4 (a) Simplify 5f—f+2f

(b) Simplify 2 xm xn x 8

(c) Simplify ¢+ £

(Total for Question 4 is 3 marks)



13.
16 (a) Solve 4c+5=11

(b) Solve 5(e+ 7)=20

(c) Simplify (m*)?

(Total for Question 16 is 5 marks)



Pearson Edexcel — Specimen 1 - Paper 3 (Calculator) Foundation Tier

14.
7 (a) Solve f+2f+f=20

(b) Solve 18—m=6

(c) Simplify d?xd>

(Total for Question 7 is 3 marks)

OCR Thursday 05 November 2020- Morning (Non-Calculator) Foundation Tier

15.
15 (a) Simplify.

45 —-2h —-2a+5b

(B) (i) Multiply out.

Hx+3)

(ii}  Multiply out and simplify.

(x+5)(x—2)



OCR Tuesday 5 November 2019 — Morning (Calculator) Foundation Tier

16.
5 Simplify.
(a) d4a+5a—-Ta
) IO [1]
(b) 3g-—2f+8g+5F
OCR Thursday 07 November 2019- Morning (Non-CaIcuIator()h éour'\'déti'o'ﬁ Tier Ty 2]
17.

16 Marina has answered some questions on algebra,
In each question, she has made an emor,

Describe her error and give the correct answer to each problem.
{a) Question 1 Simplify. 2ax a=a

Marting's answer  4a

I BTN B o mi i inm s S S TR e e R A C e E
Correct answer =
10
(b) Question 2  Simplify, x—a
X

Marting's answer X

Correct answer =
(¢) Question 3 §= ut+ %m‘a
Find swhen v=0, t=5and a= 6.
Marting's solution  §=0x 5+E'1= 6« &
5= 0+ 15°

5= 225



OCR Thursday 6 June 2019 — Morning (Non-Calculator) Foundation Tier

18.
10 (a) Simplify fully.

(iy 3f+5u—2t+3u

() R
(i) Bax2&

(b) Make x the subject of the formula y = xz -1



OCR Tuesday 11 June 2019 — Morning (Calculator) Foundation Tier

19.

28 (a) Simplify.
i H ok

L s (1

f‘!

(i} F
(] e s ceveeeeseesseses eeeesssss ceeesene e 1

(b} The length of each side of a plastic cube is 2a millimetres,
The cube has mass 3222 grams.

Find an expression for the density of the cube in its simplest form,
Give the units of your answer,



OCR Thursday 8 November 2018 — Morning (Non-Calculator) Foundation Tier

20.
15 (a) Multiply out.

(3x—2y)x+y)

Give your answer in its simplest form.

- ) P < |

(b) 3(2x+d)+clx+5)=10x+17

Work out the value of ¢ and the value of d.

(c) Solve by factorising.

F—Tx+10=0

[€) ¥= i OF XY= e [3]



OCR Monday 12 November 2018 — Morning (Calculator) Foundation Tier
21.

7 (a) Show the inequality x > 3 on this number line.

Y
£

[2]
(b) Simplify.
4a+3c+Ta—5c
(B e [2]
(e) Solve.
2x _
3



OCR Thursday 7 June 2018 — Morning (Non-Calculator) Foundation Tier

22.
4 (a) Simplify.

(i) 5x-By-x+3y

(i) wh =+ w?

(i) 5c%d = 3¢

({b) Work out the value of

(i) 4x -7 whenx=5

7
(i) % when p= 2,

fa)i)

(ii)

(iii)

(b))

(ii)



OCR Thursday 2 November 2017- Morning (Calculator) Foundation Tier

23.
6 (a) Simplify.

(iy 2p+5p—3p

(a)(i)
(i) 6j+3k—j—5k

(i)

(b) Find the value of 10h 4+ 8f when h =12 and = 4.

(b)
(€) Rearrange this formula to make d the subject.

e=r-Td



OCR Monday 6 November 2017- Morning (Calculator) Foundation Tier

24,

6 (a) Simplify fully.

() 4{c+2d)+3(3c—5d)

LAY o [31
{ily 4a=5b
I e [11
{b) Factorise fully.
iy Gg+8h
= U [11

(i) 5% —15x



25.
23 (a) nisan integer.
(i) Explain why 2n+ 1 is an odd number.

(i) Write down an algebraic exprassion for the next odd number after 2n + 1.

C L) EE [1]

(b) Use algebra to show that the sum of two consecutive odd numbers will always be a
multiple of 4. [2]

Pearson Edexcel — Sample Papers - Paper 1 (Non-Calculator) Foundation Tier
26.

22 Expand and simplify (m + 7)(m + 3)

(Total for Question 22 is 2 marks)




Pearson Edexcel — Sample Papers - Paper 3 (Calculator) Foundation Tier
27.

2 (a) Simplify 8x—3x+2x

(b) Simplify 4y x 2y

(1)

(Total for Question 2 is 2 marks)




OCR Thursday 25 May 2017 — Morning (Calculator) Foundation Tier

28.
7 (a) Simplify.

7f—6u+5t—4u

(b) Factorise.

Sv+ 20w

(c) Solve by factorising.

x2+10x+21=0

(a)

(b)

(c)

-[2]

M

[3]



OCR Thursday 8 June 2017 — Morning (Non - Calculator) Foundation Tier
29.
5 (a) Multiply out.

3x(x+ 2y)

(a)
(b) Solve.

(i) 7x=28

(BNI) X = oo

I
(X}
Il
w0

(i)

- [2]

(1]

[2]



AQA Tuesday 19 May 2020 — Morning (Non-Calculator) Foundation Tier

30.
14 (@) Solve 6xr—11=13
[2 marks]
=
. , 15a
14 (b)  Simplify fully (2 x 4a)+ 9+ = _7
[3 marks]

Answer




AQA Thursday 4 June 2020 — Morning (Calculator) Foundation Tier
31.

12 Match each expression on the left with one on the right.

One has been done for you.
[4 marks]

dah
12ab + 4

4 +a
a+tatata

3ab
dxag=h A

ﬂ4
arxaxaxa

2ab

atath+h

20+ 2b




AQA Monday 8 June 2020 — Morning (Calculator) Foundation Tier

32.

7 Match the algebra to the correct description.
One has been done for you.

Term

Equation

4y <12
Bx = 24
Bx+3

Inequality

Expression

[2 marks]



AQA Tuesday 21 May 2019 — Morning (Non-Calculator) Foundation Tier

33.

28 Multiply out and simplify {x +5){x—1)
[2 marks]

Answer




AQA Tuesday 6 November 2018 — Morning (Non-Calculator) Foundation Tier

34.
23 Two consecutive whole numbers are nand n + 1
23 (a) Simplify n={n+1)
[1 mark]
Answer
23 (b) Multiply out nin+1)
[1 mark]
Answer

23 (c) The two numbers are added.

Show that the answer must be an odd number.
[2 marks]




AQA Thursday 8 November 2018 — Morning (Calculator) Foundation Tier

35.
3 Simplify 8x -3 +6x
Circle your answer.
[1 mark]
2x-3 11x 5+ 6x 14x -3
AQA Thursday 24 May 2018 — Morning (Non-Calculator) Foundation Tier
36.
3 Simplify Ixaxd=ag
Circle your answer.
[1 mark]
9a 6a” 9a” 6a
AQA Thursday 7 June 2018 — Morning (Calculator) Foundation Tier
37.
1 Circle the expression that can be written as 2y
[1 mark]

yEy _1=2 2+y yxy




AQA Tuesday 12 June 2018 — Morning (Calculator) Foundation Tier

38.

Link the algebra to the correct description.
One has been done for you.

P=3x+4y \

Ix+B6=3(x+2)

x+2=14

3r+2

x+2<14

Identity

Equation

Formula

Inequality

Expression

[3 marks]



AQA Tuesday 12 June 2018 — Morning (Calculator) Foundation Tier

39.
17 Simplify Tx—(3x - 2x)
Circle your answer.
[1 mark]
Tx-1 2x Box Bx
AQA Monday 6 November 2017 — Morning (Calculator) Foundation Tier
40.
5 (a) Simplify yxy
[1 mark]
Answer
5 (b)  Simplify Sa+2-a+9
[2 marks]

Answer




AQA Thursday 25 May 2017- Morning (Non-Calculator) Foundation Tier

41.

17 Circle the expression which does not simplify to *

[1 mark]

}' k. -'L' - } -!' - -!' -1 = -1' }B —-!'2



AQA Tuesday 13 June 2017 Morning— Morning (Calculator) Foundation Tier

42.
5 (a) Simplify axaxa+b+bh
[2 marks]
Answer
5(b) Simplify Sx+3)-x+2
[3 marks]
Answer
AQA Sample Paper 1- Morning (Non-Calculator) Foundation Tier
43,
4 Simplify Sa — (2a + 6)
Circle your answer.
[1 mark]

Ja+6 Qg —3a 3a -6



AQA Sample Paper 2— Morning (Calculator) Foundation Tier

44,

8 (a) Solve Sw—11=24

[2 marks]
H.‘ =
8 (b) Write an expression for the total cost, in pounds, of
x jumpers at £15 each
and
y shirts at £12 each.
[1 mark]
Answer
B (c) Simplify xtx+pxy
[1 mark]

Answer




